Models PD350, PD500, PD750 PARTS Dryers/Air Movers

(3%)

(2%

ref # item # description ref # item # description

1 _X8876REPRO dryer housing black 14 X8926  16/3 SJTW 20 cord rev 2 yellow

2 PD5D squirrel cage plastic 15 X8897  switch

3 X8872A intake panel 16 X8964 screw 3/8-16 x 1/2

4 X8261 screw #6 x 1/2 pan hd phil 17 X8871 dryer grill

7 _X8881-D 1/2 hp motor - PD500 28 XAZ36 out i 39 Keps xine

7 X8882-D 1/3 hp motor - PD350 19 PX73  832x1philpanms
7 ¥8868-D 3/4 hp motor - PD750 20 XB8929 foot, left,dryer kickstand (PD500, PD750 only)
a X8875 motor control panel 22 XB8874 kickstand, dryer (PD500, PD750 only)

9 X8903 screw, m4x6 flat head phillips 23 X8928  foot, right, dryer kickstand (PD500, PD750 only)
10 X9831 knob, switch - 24 PD3B _ dryer foot black rubber

1 X8261 screw #6 x 1/2 pan hd phil 2 X8946 rivet 3/16 black

12 XBO0BN nut, lock, 1/2" steel conduit *call for pricing and availability of all referenced parts

13 PD8 strain relief 1/2" npt

=
0

o
o
("]

o
O
@
G
&
o
O
&
o
o
o
O
N
n
o




